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Four alternatives are given for each of the following questions /
incomplete statements. Only one of them is correct or most

appropriate. Choose the correct alternative and write the complete

answer along with its letter of alphabet. 4x1=4
1. Read the given conversation and choose the language function for
the underlined sentence : i
Sudha : Hello Radha! Whya1; you standing here ?
Radha : Hello ! I'm waiting for the bus. I've to go to the
market.
Sudha : Come, I will drop you. I'm going that way.

(A) Requesting

(B) Seeking direction

(C) Offering help

(D) Agreeing.

2. Choose the appropriate question tag and fill in the blank :

Your friends are coming tonight, ................. ?

(A) are they

(B) don’t they

(C) do they

(D) aren’t they.
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3. Read the given conversation and fill in the blank choosing the most

Rajesh : Hey Sunil ! Did you watch the cricket match

EREEE

(A) would have

(B) wouldn’t have

(C) will have

(D) shall have.

4. Read the following and choose the infinitive :

The facility lacked personnel and equipment. The on duty physician
was not able to do more than giving first aid. He advised that she be

moved to a nearby hospital.

(A) was

(B) todo
(C) advised
(D) lacked.
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Do as directed : S 12x1=12
S. Which one of the following words has one syllable ?

transform, free, unity, problem.
6. Combine the word in Column-A with its collocative word in

Column-B :

‘A’ ‘B’
credit : [ insurance, order, card, coin |

7. Fill in the blank using the correct article :

We reached the city after ..................... sunset.
8. Fill in the blank using suitable linker :

Ravi bought fresh fruits ................... vegetables.
9. Fill in the blank with appropriate preposition :

The girl looked .................. her friend in disbelief.
10. Fill in the blank with appropriate tense form of the verb given in

brackets : 5

Now-a-days Arjun ( go) to school regularly.
11. Identify the part of speech of the underlined word :

The temples at Hampi are magnificent.
12. Write the correct form of the word given in brackets :

The scientists were ( success) in their efforts to find a

cure for the disease.

3£ |RF/RR (A)-(200)-9010 | $£




CCE RF & RR

31-E

13.

14.

15.

16.

Change into passive voice :
The chief guest distributed the notebooks.

Read the following conversation and change the underlined sentence

into reported speech :
Raghav :  Hello Raj ! When are you going to Delhi ?

Raj :  Hey Raghav ! I am going to Delhi tomorrow.

Raj told Raghav .......cccoovveiiiiiniiiininiienns . :
[Oftse

III. The following paragraph has two errors. Edit the paragraph and

rewrite it in the answer book : 2x1=2

17.

Narendra understand that Sri Ramakrishna was a great soul. He
observed him from close quarters and gradual came to accept Sri

Ramakrishna as his teacher.

a) Verbal mistake to be corrected.

b) Adverbial mistake to be corrected.

IV. Answer the following questions in 2 - 3 sentences each : 7x2=14
18. Why did Nehru choose Dr. Ambedkar as the law minister ?
19. Ambedkar had a great thirst for books when he was a student.
Explain.
20. Do you think the E|rls.p.nse of the artists in the concert was

unusual ? Why ?

3£ |RF/RR (A)-(200)-9010 | 3 S [ Turn over




)

1-E

<

VI.

CCE RF & RR

21.

l B
22. Write about the physical appearance of the Jazz player.

23. What do you think is the writer of Narayanapur incident’ trying to

impress upon the readers ?

How can you say that the students’ march was unusual ?

24. What kind of difficulties Dicky Dolma had to face as a young girl ?
=

OR

age ?

Answer the following questions in 5 - 6 sentences each : 2x3=6

25. Describe Swami’s dreadful experience when he was lying under the
(O]

26. How does the poet describe the progress achieved in our country in
oL

the poem ‘The Song of India’ ?

EAYREF
Read the following extracts and answer the questions that follow :
ﬂ. z -
' 4x3=12

27. “Behenji, aap theek hai ?” he asked [ Sister, are you okay ? |.

a) Who is the speaker ?

b) Who is addressed as ‘Behenji’ here ?

c¢) Why did the speaker ask this question ?
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28. “One day they came back to the office to complain.”

a) Who does ‘they’ refer to ?

b) Who did they complain about ?

c¢) What was the complaint ?

29. “This is an idle pastime. You would do better to read and get some

knowledge,” he said to his son.

a) Who is the speaker ?

b) Who does ‘you’ refer to ?

c¢) What is referred here as ‘idle pastime’ ?

30. “You say you own me,

I wait.”

a) Who is the speaker ?

b) Who does ‘you’ refer to ?

c) What does T wait’ indicate in the context ? e
]t L
II. Given below is a profile. Write a paragraph using the clues given

<

below : 1x3=3

31. Mr. Raja Gopal

Place and date of birth Kolar, 20th March, 1973

Qualification : M.A., M.Ed.

Profession : Professor at a private college

Family Wife, a daughter

Hobbies ai : Writing, painting, gardening

Reasons for popularity : Friendly, service minded, helps poor

students.
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VIII.

2
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Develop the story using 1x3=3

32. A grasshopper — merry — enjoying summer — sang and danced —
ant worked — stored food — grasshopper told ant — beautiful days
— stop and enjoy — ant still worked — came winter — no food —
grasshopper starved — came to ant — help — ant told — dance the

winter away — grasshopper learnt — a lesson.  ERfFs

Study the picture given below : 1x3=3

33. Write a description or an account of what the picture suggests to you
EREER

in a paragraph.

Alternative question for Visually impaired candidates only. ( In

; lieu of Q. No. 33 )
" Use the following phrasal verbs in sentences of yourown: 3 x1=3
a) look for

b) puton

c) setout.
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X. Quote from memory :

i 34. The quality ...ccovvenviiiiiiiiiiiie e,
% ........................................................ heaven
% UPOIL i

XI. Read the following passage and answer the questions that follow :
Fh

1x4=4(2x2)

35. Most of us believe in prayers, don’t we ? “More things are wrought by

prayer than this world dreams of.” We are aware that prayer can

perform miracles. Prayer can change our lives and make us better

humans. It has the power of magic.
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A number of great men bear testimony to the power of prayer.
Nobel laureate Dr. Alexis Carrel wrote, “Prayer is a powerful source
of energy that one can generate. It is a force as powerful as terrestrial

gravity. I have seen men, after all other therapy had failed, were

lifted out of the disease and sorrow by the serene effect of prayer”.
The world today stands on the verge of destruction because people

have forgotten to pray. It is by prayer that man reaches God and God
-

enters him. Man needs God as he needs water and oxygen.

EREFHE
a) What does Dr. Carrel say about prayer ? :

=i

b) How powerful is the effect of prayer, according to the passage ?

XII. Answer the following question in about 8 - 10 sentences : 1x4=4
36. According to the poet his grandmother was a genius. Elaborate.
XIII. Write an essay on any one of the following : fi 1x4=4

37. a) Covid-19 precautions

b)  Air pollution

c) Importance of sports and games.
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XIV. Write a letter using the information given below :

=%

38. Imagine you are Chaitra / Chaitanya studying in Government High

ElaFERE
£

School, Chamarajanagar.

e iE)

Write a letter to your friend describing ‘Children’s Day’ celebrations
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Four alternatives are given for each of the following questions /
incomplete statements. Only one of them is correct or most
appropriate. Choose the correct alternative and write the complete

answer along with its letter of alphabet. 5x1=5

1. Read the given conversation and choose the language function for

the underlined sentence :

_ Sudha : Hello Radha ! Why are you standing here ?

é Radha : Hello ! I'm waiting for the bus. I've to go to the
% market. A
% Sudha : Come, I will drop you. I'm going that way.

E (A) Requesting (B) Seeking direction

% (C) Offering help (D) Agreeing.

2. Choose the appropriate question tag and fill in the blank :

Your friends are coming tonight, ................. ?
(A) are they ' (B) don’t they
(C) do they SRS (D) aren’t they.
3. Read the given conversation and fill in the blanks choosing the most

appropriate words :

Rajesh : Hey Sunil ! Did you watch the cricket match

yesterday ? We won the match !

Sunil : No, I didn’t ! If you had told me earlier, I ...........
watched it.
(A) would have (B) wouldn’t have
(C) will have (D) shall have.
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4. Read the following and choose the infinitive :

The facility lacked personnel and equipment. The on duty physician
was not able to do more than give basic first aid. He advised that she

be moved to a nearby hospital.

(A) was (B) todo

(C) advised (D) lacked.

S. Choose the appropriate prefix to fill in the blank :

Nothing is ......coevvenvenenns possible in this world.
(A) in (B) im
(C) un ‘ - (D) dis
II. Do as directed : 14 x1=14

0. Which one of the following words has one syllable ?

transform, free, unity, problem.

7. Combine the word in Column-A with its collocative word in
Column-B :
‘A’ ‘B,
credit R [ insurance, order, card, coin |
8. Fill in the blank using the correct article : o )
We reached the city after ..................... sunset.
Fill in the blank using suitable linker :
Ravi bought fresh fruits ................... vegetables.

Fill in the blank with appropriate preposition :

The girl looked .................. her friend in disbelief.
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11.

12.

13.

14.

15.

16.

17.

18.

19.

) Raghav :  Hello Raj ! When are you going to Delhi ?

4 [CCE PF & PR/NSR & NSPR |

Give one word answer for the following :

A piece of land in which fruit trees are grown.

Fill in the blank with opposite of the underlined word :

The weather is hot in summer and .................. in winter.

Fill in the blank with appropriate tense form of the verb given in

( go) to school regularly.

Identify the part of speech of the underlined word :

The temples at Hampi are magnificent.

Write the correct form of the word given in brackets :

The scientists were ..........c..c.c...... ( success) in their efforts to find a
EARFRE

cure for the disease.

Use the word ‘search’ as verb in a sentence.

Change into superlative degree :

=i

Ooty is cooler than any other hill station in India.

Change into passive voice :

(Ot

The chief guest distributed the notebooks.

Read the following conversation and change the underlined sentence

into reported speech :

Raj . Hey Raghav ! I am going to Delhi tomorrow.

Raj told Raghav ............cooiiiiiiinnn, .
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III.

Iv.

<

I.

The following paragraph has two errors. Edit the paragraph and
rewrite it in the answer book : 2x1=2
20. Narendra understand that Sri Ramakrishna was a great soul. He

observed him from close quarters and gradual came to accept Sri

Ramakrishna as his teacher.

a) Verbal mistake to be corrected.
b)  Adverbial mistake to be corrected.

Combine the sentences using too .... to and so ... that ... not:

21. She is old. She cannot walk that far.

Ot

22. a) requested / he / his / to / friend / help / him

b) young man / he / with / a / many / was / talents
Answer the following questions in 2 - 3 sentences each : 9x2=18
23. Why did Nehru choose Dr. Ambedkar as the law minister ?

24. Ambedkar had a great thirst for books when he was a student.

Explain.

25. Do you think the response of the artist in the concert was unusual ?

Why ?

26. How did Smita execute her daring thought ?

27. How can you say that a report about a boy in the newspaper was an

unexpected event in Swami’s life ?

28. Write about the physical appearance of the Jazz player.

ke
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29. Which activities of man makes the land happy ?

30. What do you think is the writer of Narayanapur incident’ trying to

O ]

impress upon the readers ?

OR

How can you say that the students’ march was unusual ?
31. What kind of difficulties Dicky Dolma had to face as a young girl ?
0]

OR

How did Haneef and his brothers learn to be independent at a young
‘E-

age ?

[O[t r]
II. Answer the following questions in 5 - 6 sentences each : 3x3=9

<

32. Describe Swami’s dreadful experience when he was lying under the

bench.

33. How did Satish lose his hearing ability ?

OR

How did Satish’s father encourage him to become an artist ?

34. How does the poet describe the progress achieved in our country in

the poem ‘The Song of India’ ?
VIII. Read the following extracts and answer the questions that follow :

5x3=15

35. “Behenji, aap theek hai ?” he asked [ Sister, are you okay ? |.

a) Who is the speaker ?

b) Who is addressed as ‘Behenji’ here ?

c¢) Why did the speaker ask this question ?
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36.

37.

38.

39.

“One day they came back to the office to complain.”

El

a) Who does ‘they’ refer to ?

b) Who did they complain about ?

c) What was the complaint ?

31-E

“This is an idle pastime. You would do better to read and get some

knowledge,” he said to his son.

a) Who is the speaker ?

b) Who does ‘you’ refer to ?
c¢) What is referred here as ‘idle pastime’ ?
“You say you own me,

I wait.”

a) Who is the speaker ?

b) Who does ‘you’ refer to ?

c) What does 1 wait’ indicate in the context ?
“his run-down shoes have

paper in them & his

rough unshaven face shows
pain

in each wrinkle

but there he stands.”
a) Who does ‘he’ refer to ?
b) Why do the shoes have paper in them ?

c¢) What does the description of the face indicate ?
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IX. Given below is a profile. Write a paragraph using the clues given

M

XI.

below :

40. Mr. Raja Gopal

2 1x3=3

Place and date of birth Kolar, 20th March, 1973

Qualification M.A., M.Ed.

Profession Professor at a private college

Family Wife, a daughter

Hobbies Writing, painting, gardening

Reasons for popularity : Friendly, service minded, helps poor

Develop the story using the clues given below :

students.

1x3=3

41. A grasshopper — merry — enjoying summer — sang and danced —

ant worked — stored food — grasshopper told ant — beautiful days

— stop and enjoy — ant still worked — came winter — no food —

grasshopper starved — came to ant — help — ant told — dance the

winter away — grasshopper learnt — a lesson.

Read the following conversation and answer the questions that

follow :

42. Rajat
Sandesh
Rajat
Sandesh

3x1=3
Hello Sandesh ! Where are you going ?

Hey Rajat ! I'm going to the city. I need to buy a new

dress.

What’s the occasion ?

I got three prizes in sports at inter-school
competition. Tomorrow is the felicitation in my
school after 4.00 p.m. Do come tomorrow if you are

free.
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Rajat : Of course ! I will surely come. Congratulations on

winning the prizes !

Sandesh :  Thank you. See you tomorrow.

a) Where was Sandesh going ?
b) Why did Sandesh invite Rajat to his school ?

c) Why did Rajat congratulate Sandesh ?

al

II. Study the picture given below : 1x3=3

43. Write a description or an account of what the picture suggests to you

in a paragraph.

Alternative question for Visually impaired candidates only. ( In

lieu of Q. No. 43 )
Use the following phrasal verbs in sentences of yourown: 3 x1=3
a) look for

b) puton

c) setout.
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XIII. Quote from memory : 1x4=4

44. The quality ..ccocvevviiiiiiiiiiieeeen

P heaven

; UPOIL it

E .......................................................... takes

= o

E You talk .oooiniiiiiii e

E ............................................................ bright ;

E B 1T P
............................................................. night ?

XIV. Read the following passage and answer the questions that follow :

4(2x2)

45. Most of us believe in prayers, don’t we ? “More things are wrought by
prayer than this world dreams of.” We are aware that prayer can

perform miracles. Prayer can change our lives and make us better

humans. It has the power of magic.

A number of great men bear testimony to the power of prayer. Nobel
laureate Dr. Alexis Carrel wrote, “Prayer is a powerful source of
energy that one can generate. It is a force as powerful as terrestrial
gravity. I have seen men, after all other therapy had failed, were
lifted out of the disease and sorrow by the serene effect of prayer”.

The world today stands on the verge of destruction because people

have forgotten to pray. It is by prayer that man reaches God and God

enters him. Man needs God as he needs water and oxygen.

a) What does Dr. Carrel say about prayer ?

b) How powerful is the effect of prayer, according to the passage ?
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XV. Answer the following question in about 8 - 10 sentences : 1x4=4
46. According to the poet his grandmother was a genius. Elaborate.

OR

The Jazz player’s pathetic life is lifted by his music. Justify.

XVI. Write an essay on any one of the following : 1x4=4
47. a) Covid-19 precautions
b)  Air pollution
c) Importance of sports and games.
XVII. Write a letter using the information given below : & 1x5=5

48. Imagine you are Chaitra / Chaitanya studying in Government High
School, Chamarajanagar.

Write a letter to your friend describing ‘Children’s Day’ celebrations

in your school.

AR

OR

Write a letter to the Junior Engineer, Electricity office of your area,

complaining about irregular power supply in your locality.
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2 CCE RF & RR
PART - A
( PHYSICS )

Four alternatives are given for each of the following questions /

incomplete statements. Choose the correct alternative and write the

=

complete answer along with its letter of alphabet. 4x1=4
1. The device used to produce electricity is

(A) Galvanometer

(B) Electric generator

(C) Ammeter

(D)  Electric motor. R
2. The correct formula that shows the relationship between potential

difference, electric current and resistance in an electric circuit is

_R —_—
w 1= | B) I= VR

(1] [RF/RR (A)-(200)-9046 A
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3. In Fleming’s right hand rule, the middle finger indicates the direction
of
(A) induced electric current
% (B) magnetic field
% (C) motion of the conductor
% (D) mechanical force.
4 To get diminished and real image of an object from a convex lens, the

(A)

(B)

(€)

(D)

(AR

RF/RR (A)-(200)-9046
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II. Answer the following questions :

4 CCE RF & RR

S. Magnetic field lines do not intersect each other. Why ?
6. Mention the SI unit of power of lens.

III. Answer the following questions : 2x2=4
7. Draw the schematic diagram of an electric circuit comprising of

0o

electric cell, electric bulb, ammeter and plug key.

An object is placed at 25 cm in front of a concave mirror of focal

length 15 cm. At what distance from the mirror should a screen be

A concave lens has focal length of 15 cm. At what distance should

the object from the lens be placed so that it forms an image at 10 cm

from the lens ?

(1] [RF/RR (A)-(200)-9046 A
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IV. Answer the following questions : 3x3=9
9. Which is the major component of biogas ? Write four characteristics

of a good source of energy.

advantages of solar cells.

10. Draw the ray diagram to show the image formation by a convex lens,

when the object is kept at 2F, of the lens. With the help of the ray

(AR

RF/RR (A)-(200)-9046
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11. What are the functions of an earth wire ? It is necessary to connect
the electric appliances having metallic body to the earth wire in

domestic electric circuit. Why ? Explain.

OR

V. Answer the following question :

12. a) What are the advantages of connecting electrical devices in
E parallel in an electric circuit instead of connecting them in
=
= series ? 5
= ki
E b) How are ammeter and voltmeter connected in an electric
% circuit ? What are their function ?
VI. Answer the following question : 1x5=5

13. a) What is refraction of light ? State two laws of refraction of

light.
b) What is refractive index of light ? “The refractive index of

diamond is 2-42.” What is the meaning of this statement ?

(1] [RF/RR (A)-(200)-9046 A
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VII.

PART - B

( CHEMISTRY )

Four alternatives are given for each of the following questions /

incomplete statements. Choose the correct alternative and write the

15.

(B) Hydrogen

(C) Chlorine

(D) Nitrogen.

Atomic number of chlorine is 17. The period number of this element

in modern periodic table is

a) 2 - (B) 7

€ 4
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VIII.

IX.

CCE RF & RR

Answer the following questions : 4x1=4

16. State modern periodic law.

17.
18.
19.
In this reaction name the reactant
i) that is oxidised and
ii) that is reduced.
Answer the following questions : 3x2=6

20. The pH values of A, B and C solutions are 5, 6 and 7 respectively.

Which of these solutions is more acidic in nature ? Why ?

21. Draw the diagram to show the arrangement of the apparatus used

for testing the conductivity of salt solution and label ‘graphite rod’.

(1] [RF/RR (A)-(200)-9046 A
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X.

22.

Answer the following questions :

23.

Give reason :

a) Metals are used in making cooking vessels.

b) Sodium metal is stored in kerosene.

Give reason :

a) When a calcium metal reacts with water, the liberated

hydrogen gas does not catch fire.

b) Ionic compounds have high melting and boiling points.

What is atomic size ? In the modern periodic table the atomic size

decreases along a ‘period’ and increases down the ‘group’. Why ?

Explain.

m RF/RR (A)-(200)-9046 m [ Turn over
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24.

25.

10 CCE RF & RR

Draw the diagram of arrangement of the apparatus to show the
reaction of zinc granules with dilute sulphuric acid and testing

hydrogen gas by burning. Label the following parts :

i) Zinc granules

i) Delivery tube.

reactions :
i) Calcium carbonate —1¢8 5 Calcium oxide + Carbon dioxide
ii) Hydrogen + Chlorine —— Hydrogen chloride

iiij ~ Magnesium + Hydrochloric acid —— Magnesium chloride +

Hydrogen.

OR

Which type of chemical reaction takes place when an iron nail is

dipped in copper sulphate solution ? Why ? Write a balanced

EoE
i

L

i

chemical equation for this chemical reaction.

(1] [RF/RR (A)-(200)-9046 A
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al

I. Answer the following question : 1x4=4

26. a) What are structural isomers ? Write the molecular and

structural formula of butane.

b) What is catenation ? Write general formula for alkenes.

PART - C

( BIOLOGY )

al

II. Four alternatives are given for each of the following questions /

incomplete statements. Choose the correct alternative and write the

complete answer along with its letter of alphabet.

27. Atmospheric layer that absorbs ultraviolet radiations coming from

the sunlight is made up of this molecule.

(a) N, _— B) H

C o s D) O

m RF/RR (A)-(200)-9046 m [ Turn over
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28. In humans, sexually transmitted viral infection is

(A) AIDS

(B) Syphilis

(C)  Tuberculosis

(D) Gonorrhoea.

XIII. Answer the following questions :

29. What is the role of decomposers in an ecosystem ?

30. In males, testes are located outside the abdominal cavity in scrotum.

Why ?

i) Auxin

ii) Cytokinin.

(1] [RF/RR (A)-(200)-9046 A
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32. Draw the diagram showing the longitudinal section of a flower and

33. Give reason :

a) ‘Ventricles of the human heart have thick wall.’

b) Tt is necessary to separate oxygenated and deoxygenated blood

Answer the following questions : o 3x3=9

2

34. When a tall ( TT) pea plant is crossed with a dwarf ( tt ) pea plant,

represent the result obtained in F, generation of monohybrid cross

with the help of checker board and mention the ratio of varieties of

plants.

35. What is trophic level ? Flow of energy in an ecosystem is always

unidirectional. Why ? Explain.

g
b
£

3
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36. a)

b)

OR

E,

fossils and explain briefly.

XVI. Answer the following questions : 2x4=8

37. Which molecule is formed during the first step of cellular respiration
by the breakdown of glucose molecule in cytoplasm ? Mention the

types of respiration and write any two differences between them.

Which are the factors essential for photosynthesis ? Mention the

events that occur during this process and represent this process by

balanced chemical equation.

(1] [RF/RR (A)-(200)-9046 A
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38. Draw the diagram showing the structure of the human brain and

i)

i)

Cerebrum

Cerebellum.

(1] [RF/RR (A)-(200)-9046
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PART - A
( PHYSICS )
I. Four alternatives are given for each of the following questions /

incomplete statements. Choose the correct alternative and write the

complete answer along with its letter of alphabet. 4x1=4

1. The device used to produce electricity is

(A) Galvanometer

(B) Electric generator

(C) Ammeter

(D)  Electric motor.

2. The correct formula that shows the relationship between potential

difference, electric current and resistance in an electric circuit is

v
-

m | PF/PR/NSR & NSPR-(C)-(700)-21038| IﬂIIﬂ
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3. In Fleming’s right hand rule, the middle finger indicates the direction
of

E (A) induced electric current

E (B) magnetic field

é (C) motion of the conductor

= (D) mechanical force.
4. To get diminished and real image of an object from a convex lens, the

II.

object should be placed

(A)

(B)

€)

(D)

Answer the following questions :

at principal focus F,

between principal focus F, and 2F,

beyond 2 F,

between principal focus F, and optical centre O.

S. Magnetic field lines do not intersect each other. Why ?

6. Mention the SI unit of power of lens.

A | PF/PR/NSR & NSPR-(C)-(700)-21038| LY [ Turn over
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III. 5x2=10
7 Draw the schematic diagram of an electric circuit comprising electric

cell, electric bulb, ammeter and plug key.
8. An object is placed at 25 cm in front of a concave mirror of focal

length 15 cm. At what distance from the mirror should a screen be

A concave lens has focal length of 15 cm. At what distance should

the object from the lens be placed so that it forms an image at 10 cm

from the lens ?

9. In an electric circuit three resistors of resistance 5 Q, 10 Q and 30 Q

are connected to a battery in parallel. Find the total resistance

produced in an electric circuit.

10. How can a simple electric motor be converted into a commercial

motor ? i
[=

m | PF/PR/NSR & NSPR-(C)-(700)-21038| IﬂIIﬂ
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11. Draw the diagram of a electric generator. Label the following parts :

i) Brushes

ii) Rings.

IV. Answer the following questions :

._.
N

advantages of solar cells.

13. Draw the ray diagram to show the image formation by a convex lens,

when the object is kept at 2F, of the lens. With the help of the ray

diagram mention the position and nature of the image formed.

[ F, : Principal focus of the lens ]
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VI.

E

14.

Answer the following question :

6 [CCE PF & PR/NSR & NSPR |

What are the functions of an earth wire ? It is necessary to connect

the electric appliances having metallic body to the earth wire in

domestic electric circuit. Why ? Explain.

15. a) What are the advantages of connecting electrical devices in
parallel in an electric circuit instead of connecting them in
series ?

b) How are ammeter and voltmeter connected in an electric
circuit ? What are their function ?

Answer the following question : 1x5=5

16. a) What is refraction of light ? State two laws of refraction of

diamond is 2-42.” What is the meaning of this statement ?

m | PF/PR/NSR & NSPR-(C)-(700)-21038| IﬂIIﬂ
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PART - B

( CHEMISTRY )

<

II. Four alternatives are given for each of the following questions /

incomplete statements. Choose the correct alternative and write the

e

complete answer along with its letter of alphabet. 2x1=2

17. The gas liberated at the cathode in the electrolysis of water is

(A) Oxygen (B) Hydrogen

(C) Chlorine ] (D) Nitrogen.

18. Atomic number of chlorine is 17. The period number of this element

in modern periodic table is

a) 2 (B) 7

) 4 o D) 3.

VIII. Answer the following questions : 4x1=4

19. State modern periodic law.

20. Write any two uses of Plaster of Paris.

A | PF/PR/NSR & NSPR-(C)-(700)-21038| LY [ Turn over
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21. Write the structural formula of ethene molecule.

% 22. ZnO+C — Zn +CO

% In this reaction name the reactant

% i) that is oxidised and

Z ii) that is reduced.

IX. Answer the following questions : 6x2=12

23. The pH values of A, B and C solutions are 5, 6 and 7 respectively.

Which of these solutions is more acidic in nature ? Why ?

24. Draw the diagram to show the arrangement of the apparatus used

for testing the conductivity of salt solution and label ‘graphite rod’.

25. Give reason :

a) Metals are used in making cooking vessels.

b) Sodium metal is stored in kerosene.

OR

m | PF/PR/NSR & NSPR-(C)-(700)-21038| IﬂIIﬂ
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Give reason :

26.

27.

28.

Answer the following questions :

29.

30.

a) When a calcium metal reacts with water, the liberated

hydrogen gas does not catch fire.

b) Ionic compounds have high melting and boiling points.

What is rancidity ? How can it be prevented ?

Mention the precautionary measures to be taken while diluting

concentrated acid.

Write the functional group present in butanol and propanone.

Mention number of carbon atoms in a molecule of these compounds.

What is atomic size ? In the modern periodic table the atomic size
decreases along a ‘period’ and increases down the ‘group’. Why ?

Explain.

Draw the diagram of arrangement of the apparatus to show the
reaction of zinc granules with dilute sulphuric acid and testing

hydrogen gas by burning. Label the following parts :

i) Zinc granules

i) Delivery tube.
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31. Write the balanced chemical equation for the following chemical

reactions :
i) Calcium carbonate —18 5 Calcium oxide + Carbon dioxide
ii) Hydrogen + Chlorine —— Hydrogen chloride

iiij  Magnesium + Hydrochloric acid —— Magnesium chloride +

Hydrogen.

OR

Which type of chemical reaction takes place when an iron nail is

dipped in copper sulphate solution ? Why ? Write a balanced

chemical equation for this chemical reaction.

XI. Answer the following question : 1x4=4

32. a) What are structural isomers ? Write the molecular and

structural formula of butane.

b) What is catenation ? Write general formula for alkenes.
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PART - C

( BIOLOGY )

XII. Four alternatives are given for each of the following questions /

incomplete statements. Choose the correct alternative and write the

complete answer along with its letter of alphabet. 2x1=2

33. Atmospheric layer that absorbs ultraviolet radiations coming from

the sunlight is made up of this molecule.

A) N

(€) O, (D) O

34. In humans, sexually transmitted viral infection is

(A) AIDS

(B) Syphilis

(C) Tuberculosis

(D)  Gonorrhoea.
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83-E 12 [CCE PF & PR/NSR & NSPR |

36. In males, testes are located outside the abdominal cavity in scrotum.

Why ?

XIV. Answer the following questions : 7Tx2=14

37. Mention the function of the following plant hormones :

i) Auxin

ii) Cytokinin.

38. Draw the diagram showing the longitudinal section of a flower and

label ‘ovary’.

39. Give reason :

a) ‘Ventricles of the human heart have thick wall.’

b) Tt is necessary to separate oxygenated and deoxygenated blood

in mammals and birds.’

m | PF/PR/NSR & NSPR-(C)-(700)-21038| IﬂIIﬂ
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XV.

40.

41.

42.

43.

Answer the following questions :

44,

Define the following related to movement due to growth in plants :

i) Phototropism

ii) Geotropism.

What is the function of ovary and fallopian tube in human female

reproductive system ?

When a tall ( TT ) pea plant is crossed with a dwarf ( ¢t ) pea plant,

represent the result obtained in F, generation of monohybrid cross

with the help of checker board and mention the ratio of varieties of

plants.
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What is trophic level ? Flow of energy in an ecosystem is always

unidirectional. Why ? Explain.

a) Mention any four main factors that lead to the rise of new

species.

b) The experiences of an individual acquired during its lifetime

cannot be passed on to its progeny. Give reason.

OR

What are fossils ? Mention the methods of estimation of dating

fossils and explain briefly.

XVI. Answer the following questions : 2x4=8

47.

Which molecule is formed during the first step of cellular respiration
by the breakdown of glucose molecule in cytoplasm ? Mention the

types of respiration and write any two differences between them.

OR

Which are the factors essential for photosynthesis ? Mention the
events that occur during this process and represent this process by

balanced chemical equation.
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48. Draw the diagram showing the structure of the human brain and

label the following parts :

i) Cerebrum
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Four choices are given for each of the following questions /

incomplete statements. Choose the correct answer and write the

[
1

complete answer along with its letter of alphabet. 8x1=8

1. The sea route between India and Europe was discovered by

(A) Columbus

(B) Vasco-da-Gama

(C) Almeida

(D) Albuquerque.

2. The movement led by Ali brothers was

(A) Non-Co-operation

(B) Khilafat

(C) Civil Disobedience

(D) Quit India.

@y, |RF/RR (A)-(200)-9030 | &
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3. The policy of keeping safe distance from both the Power Blocs of the

world is known as

(A) Non-Alignment

(B) Anti-Apartheid

(C) Anti-Imperialism

(D) Disarmament.

(A) Nurse

(B) Teacher

(C) Housewife

(D) Police.
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(A)

(B)

(€)

(D)

CCE RF & RR

Kesari

Mooka Nayaka

Maratha

Bombay Samachar.

The Nagarjuna Sagar wildlife sanctuary is located in the state

(A)

(B)

(€)

(D)

Karnataka

Kerala

Uttar Pradesh

Telangana.
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7.

(A) 24th
(B) 42nd
(C) 73rd
(D) 92nd.

The type of bank account where any number of transactions can be

made in a day is

(A) Savings Bank Account

(B) Current Account

(C) Recurring Deposit Account

(D) Term Deposit Account.
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10. Who was the first President of India ?

11.

12.

13.

14.

15. What is National Income ?

16. Who is the founder of ‘Wipro Technologies’ ?

@y, |RF/RR (A)-(200)-9030 | &
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II.

each : 8x2=16

17. What were the results of the battle of Buxar ?

18. What were the conditions of Subsidiary Alliance ?

19.

20.

Name any four Environmental Movements.
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21.

22. What are the causes for soil erosion ?

23.

24.

9 x 3 =27

25.

26.

OR

What were the problems faced by India at the time of Independence ?

27. What are the reasons for the failure of the First War of Indian

Independence ?
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28.

29.

30.

31.

32.

Write the legal measures to eradicate untouchability in India.

What are the factors that influence the localization of industries ?

OR

List out the effects of cyclones.

in present day India.

OR

Explain the features of Panchayat Raj system adopted in India.
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33.

CCE RF & RR

What are the entrepreneur’s role in the economic development ?

Answer the following questions in about eight sentences / points

each :

34.

35.

36.

37.

OR

Explain the role of Radicals in the Indian Independence Movement.

What is the role of Subhash Chandra Bose in the freedom struggle ?

Which measures are taken to improve the status of women in

India ?

List out the types of agriculture followed in India.
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I. 38. Draw an outline map of India and mark the following: 1+4=5

a) 23% ° North Latitude

b) Bhakra-Nangal

c) River Kaveri

d) Mumbai.

Alternative Question for Visually impaired Candidates only :

( In lieu of Q. No. 38)

Mention the main aims of the Multipurpose River Valley Projects.
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I. Four choices are given for each of the following questions /

incomplete statements. Choose the correct answer and write the

complete answer along with its letter of alphabet.

1. The sea route between India and Europe was discovered by

(A) Columbus

i

(B) Vasco-da-Gama

(C) Almeida

(D) Albuquerque.

2. The movement led by Ali brothers was

(A) Non-Co-operation

(B) Khilafat

(C) Civil Disobedience

(D) Quit India.
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3.

world is known as

(A)

(B)

(€)

(D)

Non-Alignment

Anti-Apartheid

Anti-Imperialism

Disarmament.

(A)

(B)

(€)

(D)

Nurse

Teacher

Housewife

Police.
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(A) Kesari

(B) Mooka Nayaka

(C) Maratha

(D) Bombay Samachar.

The Nagarjuna Sagar wildlife sanctuary is located in the state

(A) Karnataka

(B) Kerala

(C) Uttar Pradesh

(D) Telangana.

The Constitutional Amendment that brought into existence the three

levels of Panchayat institutions is

(A) 24th (B) 42nd

(C) 73rd (D) 92nd.
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I.

10.

11.

12.

made in a day is

(A) Savings Bank Account

(B) Current Account

(C) Recurring Deposit Account

Why did Wellesley resign to his post and return to England ?

Who was the first President of India ?

What is mob ?
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I.

13.

14.

15.

16.

each :

17.

18.

19.

6 [CCE PF & PR/NSR & NSPR |

What is National Income ?

What were the results of the battle of Buxar ?

What were the conditions of Subsidiary Alliance ?

Which are the Panchsheel Principles ?

OR

Rights.
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20.

21.

22.

23.

24.

25.

26.

27.

28.

OR

Name any four Environmental Movements.

Which are the important climatic seasons of India ?

What are the causes for soil erosion ?

Mention the housing programmes.

What are the objectives of Consumer Protection Act ?

What were the causes for the Battle of Plassey ?

What were the reformations of Annie Besant ?

Mention the military reasons for the mutiny of 1857.

What are the measures essential for the eradication of

unemployment ?
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29. What are the major problems that emerged after World War II ?

30. What are the features of Social Stratification ?

31. Which are the main physiographic divisions of India ?

32. What is the importance of Agriculture in India ?

I

V.

OR

What were the problems faced by India at the time of Independence ?

@, [PF/PR/NSR&NSPR-(C)-(700)-21023] &
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37.

38.

39.

40.

41.

42.

What are the reasons for the failure of the First War of Indian

Explain the relationship of India and Russia.

Write the legal measures to eradicate untouchability in India.

What are the factors that influence the localization of industries ?

OR

List out the effects of cyclones.

What is the importance of transport ? Explain.

Explain the features of Panchayat Raj system adopted in India.
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43.

each :

44.

45.

46.

47.

10 | CCE PF & PR/NSR & NSPR |

OR

Explain the role of Radicals in the Indian Independence Movement.

What is the role of Subhash Chandra Bose in the freedom struggle ?

Which measures are taken to improve the status of women in

India ?

List out the types of agriculture followed in India.
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I. 48. Draw an outline map of India and mark the following: 1+4=5

b) Bhakra-Nangal

c) River Kaveri

d) Mumbai.

Mention the main aims of the Multipurpose River Valley Projects.
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Four alternatives are given for each of the following questions /
incomplete statements. Choose the correct alternative and write the

complete answer along with its letter of alphabet.

(A) intersecting lines

(B) parallel lines

(C) coincident lines

(D) perpendicular lines.

2. The common difference of the Arithmetic progression 8, 5, 2, -1, ...

is

(A)

(B)

(€)

(D) 8.

% |RF/RR (A)-(200)-9020 |




CCE RF & RR

3. The standard form of 2x2

(A)

(B)

(€)

(D)

(A)

(B)

(€)

(D)

Il
b
|
\]
o

2x2—x=—7

2%x2 +x-7=0

2x2—x+7

Il
o

Il
o

2x2+x+7

N|—
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(A)

(B)

(€)

(D)

30°

60°

90°

180°.

CCE RF & RR
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(A m(ry+r

B) m(ry-r,)l

1 2 2
(@] Erch(r1 -7, —r1r2)
(D) lTch(r2+r2+rr)
3 1 2 12

Surface area of a sphere of radius 7’ unit is

(A) nr? sq.units (B) 2nr? sg.units

© 3nr? sqg.units (D) 4mr? sq.units.
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I.

10.

11.

12.

13.

14.

15.

CCE RF & RR

8x1=8

common difference, then write its nt" term.

Write the standard form of quadratic equation.

sin18°

Write the value of .
cos 72°

Write the distance of the point ( 4, 3 ) from x-axis.

Find the median of the scores 6, 4, 2, 10 and 7.
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16. In the given figure, write the formula used to find the curved surface

area of the cone.

III. Answer the following questions :

8x2=16

17. Solve the given pair of linear equations by Elimination method :

2x+y = 8
x-y=1
18. Find the 30th term of the arithmetic progression 5, 8, 11, ..... by

>
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19.

20.

21.

22.

Find the sum of first 20 terms of the Arithmetic progression

10, 15, 20, ....

Find the sum of first 20 positive integers using formula.

...... by using formula.

OR

CCE RF & RR

Find the roots of x? +5x+2 = 0 by using quadratic formula.

Find the value of the discriminant and hence write the nature of

roots of the quadratic equation x? +4x+4 =

Find the distance between the points A ( 2, 6 ) and B (5,

10 ) by

Find the coordinates of the mid-point of the line segment joining the

points P( 3, 4)and Q (5, 6) by using ‘mid-point’ formula.

>
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23. Draw a line segment of length 10 cm and divide it in the ratio 2 : 3

by geometric construction.

24. In the given figure find the values of

i) sin 6

ii) tan a.

13

12

14

Iy

V. Answer the following questions : 9x3=27

25. The sum of first 9 terms of an Arithmetic progression is 144 and its

9th term is 28. Then find the first term and common difference of the

Arithmetic progression.
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26. The diagonal of a rectangular field is 60 m more than its shorter

side. If the longer side is 30 m more than the shorter side, then find

the sides of the field.

OR

In a right angled triangle, the length of the hypotenuse is 13 cm.

Among the remaining two sides, the length of one side is 7 cm more

than the other side. Find the sides of the triangle.

27. Prove that

OR

Prove that secO(1-sin®)(secO+tan6)=1.

% |RF/RR (A)-(200)-9020 |
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28.

29.

Find the coordinates of the point on the line segment joining the

points A(—-1, 7)and B (4, — 3 ) which divides AB internally in the

ratio 2 : 3.

OR

Find the area of triangle PQR with vertices P (0O, 4), Q (3, 0)

O =)

and R(3, 5).

Class-interval Frequency
10 — 20 2
20— 30 3
30 — 40 5
40 — 50 7
50 — 60 3

OR

B
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Class-interval Frequency
5—15 3
15— 25 4
25 —35 8
35 —45 7
45 — 55 3

30. During a medical check-up of 50 students of a class, their heights

were recorded as follows :

=

Draw “less than type” ogive for the given data :

Height in cm Number of students
( Cumulative frequency )
Less than 140 )
Less than 145 10
Less than 150 15
Less than 155 25
Less than 160 40
Less than 165 50
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31. Prove that “the lengths of tangents drawn from an external point to a
[OpSso
circle are equal”.
3
32. Construct two tangents to a circle of radius 3 cm from a point 8 cm
away from its centre.
=
33. The volume of a solid right circular cylinder is 2156 cm?3. If the
height of the cylinder is 14 cm, then find its curved surface area.
22 SIRRES
Tak = —
[ Take = - ]
Answer the following questions : 4x4=16
34. Find the solution of the given pair of linear equations by graphical

35.

method :

The angle of elevation of the top of a building from the foot of a tower

is 30° and the angle of elevation of the top of the tower from the foot

o : of the building is 60°. Both the tower and building are on the same

> RF/RR (A)-(200)-9020 > [ Turn over
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level ground. If the height of the tower is 50 m, then find the height

ESEERE

of the building.

50 m

60 30°

OR

As observed from the top of a 75 m high light house from the sea-
level, the angles of depression of two ships are 30° and 45°. If one

ship is exactly behind the other on the same side of the light house,
[ORsSz

then find the distance between the two ships. ;
A “ M
30° i

45

% |RF/RR (A)-(200)-9020 |
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36. Construct a triangle with sides 45 cm, 6 cm and 8 cm. Then

. . 3 .
construct another triangle whose sides are Z of the corresponding
[OpeEa 20

sides of the first triangle.

37. In the figure AXB and CYD are the arcs of two concentric circles

with centre O. The length of the arc AXBis 11 cm. If OC=7 cm and

. Z/ AOB = 30°, then find the area of the shaded region.
&

[ Take & = %]

<

I. 1x5=5

38. Prove that “the ratio of the areas of two similar triangles is equal to

ES: 5 ES: 5w E
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3. Follow the instructions given against both the objective and subjective
types of questions.

4. Figures in the right hand margin indicate maximum marks for the
questions.

S. The maximum time to answer the paper is given at the top of the
question paper. It includes 15 minutes for reading the question paper.

302 > | PF/PR/NSR & NSPR-(C)-(700)-21014| > [ Turn over

TEAR HERE TO OPEN THE QUESTION PAPER

]

2Qex 3308

%@oﬁo&o—é’@oﬁa@a R

3=

3
)

Tear here



81-E 2 |CCE PF & PR/NSR & NSPR |

| ]
.

Four alternatives are given for each of the following questions /
incomplete statements. Choose the correct alternative and write the

complete answer along with its letter of alphabet. 8x1=8

1. The graphical representation of pair of lines x + 2y — 4 = 0 and

2x+4y-12 =0 are

(A) intersecting lines

(B) parallel lines

(C) coincident lines

(D) perpendicular lines.

2. The common difference of the Arithmetic progression 8, 5, 2, -1, ...

is

a) -3
B) -2
© 3
D) 8.
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3.

The standard form of 2x2 = x -7 is

(A) 2x2 - x = -7

(B) 2x2+x-7=0

(@] 2x2 - x+7

Il
o

Il
o

(D) 2x%+x+7

The value of cos (90° - 30°) is

@A) -1 (B)

N | =

© o R D) 1.

of contact is

(A)  30° (B) 60°

(C) 90° g (D) 180°.
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7.

(A)

(B)

(€)

(D)

(A)

(B)

(€)

(D)

4 [CCE PF & PR/NSR & NSPR |

nr? sq.units

2nr? sg.units

2

3nr® sq.units

2

4nr< sq.units.
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II. Answer the following questions : 8x1=8
O]

9. If the pair of linear equations in two variables are inconsistent, then

how many solutions do they have ?

10. In an Arithmetic progression if ‘a’ is the first term and ‘d’ is the

11. Write the standard form of quadratic equation.

sin18°

12. Write the value of .
cos 72°

13. Write the distance of the point ( 4, 3 ) from x-axis.

14. Find the median of the scores 6, 4, 2, 10 and 7.

15. Write the statement of “Basic Proportionality” theorem (Thales

theorem ).
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16. In the given figure, write the formula used to find the curved surface

area of the cone.

|

II. Answer the following questions : 18 x 2 =36

17. Solve the given pair of linear equations by Elimination method :

2x+y = 8
x—-y=1
18. Find the 30th term of the arithmetic progression 5, 8, 11, ..... by

= 0]

using formula.
=

19. Find the sum of first 20 terms of the Arithmetic progression

10, 15, 20, .......... by using formula.

OR

Find the sum of first 20 positive integers using formula.
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20.

21.

22.

23.

24.

Find the roots of x? +5x+2 = 0 by using quadratic formula.

Find the value of the discriminant and hence write the nature of

roots of the quadratic equation x? +4x+4 = 0.

Find the distance between the points A (2, 6 ) and B (5, 10 ) by

using distance formula.

ol
37

by geometric construction.

In the given figure find the values of

i) sin 6

ii) tan a.

13

12

B 0

B 5 c
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25.

26.

27.

28.

29.

8 [CCE PF & PR/NSR & NSPR |

i) Chord

i) Secant of the circle.

inclined to each other at an angle of 60°.

Find the roots of the equation (x+3)(x—-4)=0.

If the point P ( O, y ) is equidistant from the points A ( 3, 0 ) and

B (3, 2), then find the value of y.
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30.

31.

32.

33.

34.

In A ABC as shown in the figure, EF || BC. If AE = 1 cm,

BE =2 cm and AF = 2 cm, then find FC.
A

1 cm 2 cm

E > F
2 cm
[OF
B = C ElRs*

ABC is an isosceles triangle right angled at C. Prove that

AB? = 2 AC?.

If tan A = cot B, then prove that A + B =90°.

Two cubes each of side 4 cm are joined end to end. Find the volume

HiE
F3

of the resulting cuboid.

Find the area of the quadrant of a circle of radius 7 cm.

22
7

[ Take © =
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9 x 3 =27

35. The sum of first 9 terms of an Arithmetic progression is 144 and its

9th term is 28 then find the first term and common difference of the
ESEERE

Arithmetic progression.
i

36. The diagonal of a rectangular field is 60 m more than its shorter
side. If the longer side is 30 m more than the shorter side, then find

the sides of the field.

In a right angled triangle, the length of the hypotenuse is 13 cm.

Among the remaining two sides, the length of one side is 7 cm more

than the other side. Find the sides of the triangle.

37. Prove that

OR

Prove that: secb6(1-sin6)(secO+tan0)=1.

38. Find the coordinates of the point on the line segment joining the
points A(—-1, 7)and B (4, — 3 ) which divides AB internally in the

ratio 2 : 3. “'-E’

OR

Find the area of triangle PQR with vertices P (O, 4), Q (3, 0)

=
Bz

and R(3, 5).

[ofisa
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39. Find the mean for the following grouped data by Direct method :

Find the mode for the following grouped data :

»

Class-interval Frequency
10— 20 2
20— 30 3
30 — 40 S
40 — 50 7
50 — 60 3

OR

Class-interval Frequency
5—15 3
15 —25 4
25 —35 8
35 —45 7
45 — 55 3
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40. During a medical check-up of 50 students of a class, their heights

were recorded as follows :

Draw “less than type” ogive for the given data :

Height in cm Number of students
( Cumulative frequency )
Less than 140 )
Less than 145 10
Less than 150 15
Less than 155 25
Less than 160 40
Less than 165 50

41. Prove that “the lengths of tangents drawn from an external point to a

42. Construct two tangents to a circle of radius 3 cm from a point 8 cm

away from its centre.

43. The volume of a solid right circular cylinder is 2156 cm?. If the

height of the cylinder is 14 cm, then find its curved surface area.

[ Take = = %]
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V. Answer the following questions : 4x4=16
44. Find the solution of the given pair of linear equations by graphical

45.

method :
x+2y=06
x+y= 5

The angle of elevation of the top of a building from the foot of a tower

is 30° and the angle of elevation of the top of the tower from the foot

of the building is 60°. Both the tower and building are on the same

level ground. If the height of the tower is 50 m, then find the height

of the building.

50 m

60 30°

OR
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46.

47.

14 [CCE PF & PR/NSR & NSPR |

As observed from the top of a 75 m high light house from the sea-

level, the angles of depression of two ships are 30° and 45°. If one
ship is exactly behind the other on the same side of the light house,
then find the distance between the two ships.

A R M
30° -

N

45
B P

30

Construct a triangle with sides 45 cm, 6 cm and 8 cm. Then

. . 3 .
construct another triangle whose sides are Z of the corresponding

sides of the first triangle.

In the figure AXB and CYD are the arcs of two concentric circles

with centre O. The length of the arc AXBis 11 cm. If OC=7 cm and

B
%

Z AOB = 30°, then find the area of the shaded region.
22
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I. Answer the following question :

48. Prove that “the ratio of the areas of two similar triangles is equal to

EEFRiE

the square of the ratio of their corresponding sides”.
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